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QUESTION 1

Which of the following commands reboots the system when using SysV init? (Choose TWO correct answers.) 

A. shutdown -r now 

B. shutdown -r "rebooting" 

C. telinit 6 

D. telinit 0 

E. shutdown -k now "rebooting" 

Correct Answer: AC 

 

QUESTION 2

SIMULATION 

Which command is used in a Linux environment to create a new directory? (Specify ONLY the command without any
path or parameters.) 

Correct Answer: mkdir -or- /usr/bin/mkdir 

 

 

QUESTION 3

Which of the following commands will produce the following output? 

A. jobs 

B. proclist 

C. netstat 

D. ps 

Correct Answer: D 
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QUESTION 4

Which of the following commands overwrites the bootloader located on /dev/sda without overwriting the partition table or
any data following it? 

A. dd if=/dev/zero of=/dev/sda bs=512 

B. dd if=/dev/zero of=/dev/sda bs=512 count=1 

C. dd if=/dev/zero of=/dev/sda bs=440 count=1 

D. dd if=/dev/zero of=/dev/sda bs=440 

Correct Answer: C 

 

QUESTION 5

When using regular expressions, which of the following characters match the beginning of a line? 

A. ^ 

B. ? 

C. * 

D. + 

E. $ 

Correct Answer: A 
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